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R=5
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W17 1+095.65

R=600

&=4.44 g

Ws=0.37 m
T=20.93 m
Ł=41.85 m

W18 1+158.20

W19 1+193.00

R=350

R=400

&=5.33 g

&=6.33 g

Ws=0.31 m

Ws=0.50 m

T=14.66 m

T=19.90 m

Ł= 29.30 m

Ł= 39.77 m

W20 1+252.40

R=300

&=10.89 g

Ws=1.10 m

T=25.72 m

Ł=51.31 m

W21 1+301.80

W22 1+329.80

R=80

R=200
&= 9.22 g

&= 15.11 g

Ws= 0.57 m

Ws= 0.53 m

T= 9.54 m

T= 14.51 m

Ł=18.99 m

Ł=28.97 m

W23 1+400.00 W24 1+432.90

R=500

&=3.56 g
Ws= 0.20 m Ws= 0.32 m

T=13.97 m

Ł=27.96 m

Projektowany przepust d=40 cm L=7.0 m

34.1-192

34.1-194

34.1-218

34.1-450

34.1-451

34.1-193

34.1-775

34.1-776

34.1-857

34.1-858

34.1-859
34.1-860

34.1-861

34.1-45 34.1-862 34.1-863 34.1-864 34.1-865 34.1-866 34.1-867 34.1-868
34.1-869 34.1-870 34.1-871


